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QUESTION 1

Which device would communicate to a DAS?
A. switch

B. HBA

C.NIC

D. DB9 serial cable

Correct Answer: D

QUESTION 2

A physical server is having a native or bare-metal hypervisor installed before being deployed. In this scenario, which
statement is correct?

A. The hypervisor runs as a program on a host operating system and supports only one instance of a virtual server

B. The hypervisor runs directly on the server hardware and supports the creation of multiple concurrent instances of
virtual servers

C. The hypervisor runs directly on the server hardware and supports the creation of only one instance of a virtual
server.

D. The hypervisor runs as a program on a host operating system and supports multiple concurrent instances of virtual
servers.

Correct Answer: B

QUESTION 3

You have a RAID 5 set with five disks at 400 GB each. Approximately how much usable space would this configuration
yield?

A. 1 terabyte

B. 2 terabytes
C. 1.2 terabytes
D. 16 terabytes

Correct Answer: C

QUESTION 4
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Which two security methods will protect iISCSI traffic from unauthorized tampering or spoofing? (Choose two.)
A. internet Protocol Security (IPsec)

B. ACLs

C. encryption at rest

D. Challenge Handshake Authentication Protocol (CHAP)

Correct Answer: AD

QUESTION 5

What should a valid iSCSI qualified name include?
A. the iSCSI string

B. date code, in yyyy-mm format

C. the WWN string

D. initials of company name

Correct Answer: B
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